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Q.1 Questions / <Vigw A B C

1. -‘a.‘ﬁlf‘.t.luycqcrufu“‘.{&lLl)ngL&uf)ﬂ f‘ff Sk St g
The most abundant element occurring in the ocean is: Oxygen Hydrogen Nitrogen Silicon

2. [Empirical formula of Benzene is: -‘gumutﬁ. PO CH20 CHO C2H2 CH

3. b e E M 1 2 3 4
M-Shell consists of number of sub shells:

i O B P EFE Sa T ehl] v v b s
In fong form of periodic table, horizontal lines are called: Groups Blocks Periods Triads

5. [The pair has polar covalent bond: -+%kg¢{;f/;ﬁvz HCl and H20 Cz2Hzand H20 N2and H20 Clzand H20

6. Boiling point of NaCl is: _4__‘,514.,@’ K UE 0°C 100°C 800°C 1413°C

7 b Siie sz ulra Lty Pt oz gE
The gas which diffuses faster: Helium Hydrogen Fluorine Chlorine

-chg’nJ’wrlfl 00 L Fob i iiras g o1 S S st

8. |Number of grams of solute dissolved in 100 grams of m/v% m/m % vim% LAk
solution is called:
9. e Beart 7l gre Lty «# ST L bty
One of these settles down in water. Honey Kerosine oil Benzene NaCl
10. [Formula of rust is: —c Uy | Fe03.nH0 Fe203 f((\\ Fe (OH)3. nH20 Fe (OH)s
- e .ii A 5
Oxidation number of sulphurin H2804 is: A @
12 e Bedit Nl g dprinih BN Q“ S s 3T
[The halogen which exists in liquid form at room temperature is: Chloring Fluorine Bromine lodine
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Note: Attempt any TWO questions. Each question carries 9 mark
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Note:

vi.
vii.

viii.

~ Section B is compulsory. Attempt any TWO (2) questions from Section C.
SECTION-B (.~

Write short answers to any FIVE parts. (5x2=10)
How does homogeneous mixture differ from heterogeneous mixture?
State two r;asons, why is air a mixture and water a compound?
Write down the electronic configuration of chloride ion (CI') in subshelis?
How is goiter in thyroid gland detected?

Give the trend of ionization energy in period and group.

Differentiate between period and group.

What is meant by atomic radius? Write down its unit.

What is meant by transition metals? Give an example.

Write short answers to any FIVE parts. (5x2=10)
Why does ice float on water?

What is the relationship between electronegativity and polarity?
Why does a covalent bond become polar?

in which form does Sulphur exist at 100°C?

Differentiate between diffusion and effusion.

Why do we stir paint thoroughly before using?

&
What do you mean by %v/m? & @
@ 02 S s KL

Why does solution not show tyndall effect?

(PTO) 4 CZ >
4. )

i.
ii.
iii.
iv.
v
vi.
Vii,

viii.

(b) Define a covalent bond and explain its various types

(a) Describe Rutherford’s atomic model with the help of a diagram

(a) Describe important properties of a compound

Write short answers to any FIVE parts @ (5x2=10)
¢ x2=
O

Define oxidation with an example,

Calculate oxidation number of nit

Differentiate between weak te and strong electrolyte

How is galvanizing carried out?

Write down any two physical characteristics of metals
Write down any two uses of calcium.

How does sodium react with oxygen?

Why doe iti
y s electropositive character decrease across a period from left to right?

SECTION -C (r

CH

6]

(5)

(b) Define Boyle's Law and prove that P,V,=P,V,

(a) How can sodium metal be extracted from Downs Cell?

(b)

E by . 2 \
xplain it logically with reactions and diagram. ®

Explain any four characteristics of a colloid

@
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Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correc, fill thal circle in front of that question number in your answer book. Usa marker ar pen

SECTION-A Jii.»

to fiil the circles. Cutting or filling up two or more tircles will result no mark.

W] ~5 2l
=

Q1 Questions / CNU»-: A B D
el e o il Iy < oA
" [The most precious metal is: . i Silver Gold Platinum Iron
9 e il g K sE Suklsy Hogly L
Which compound is not soluble in water? MgCl2 NaCl KBr CsHs
3. -ty (e P AR Ui
In Boyle's Law, the constant quantity is: Volume Pressure Temperature Mass
4 Py IS Ve &
" |Tyndall effect is shown by: Sugar solution | Chalk solution Paints Jelly
5. PR AFC- 120 gg 0y 97.6% 98.9% 99.7%
The isotope C-12 is present in abundance of:
6. [Formula mass of calcium carbonate is: _g.uwmw.;g,:/(ﬁ? 100 amu 100g 63 amu 63 g
7 ,gJ(ﬁJJf;bﬁg/ﬁJTﬂUJﬂ /.";JL /;..ﬂ" St /.ju)'{;gi
" [The base of long form of periodic table is: Mass number | Atomic number | Atomic mass | Avogadro number
8. e FafT US| ST e ety)
Which one non metal is lustrous? Phosphorous lodipg O, Sulphur Graphite
9. _‘Lb-‘»;&:»gjc,_,,u:j’-‘i;u,.i_@a_gu:,w o1 @\m o Sl
The most abundant element occurring in the ocean is: Oxygen rogen Chlorine Nitrogen
el 21 T of {&Q
3 ¢ Na H2S0 NaCl CHsCOOH
_10 Which one is an example of weak electrolyte? % = :
bl B 0 0 .
11. Melting point of sodium chloride is: — c el mee §00°C
i ?9>\)dtu:wf oIl Sutu# AL
" Butter is an example of: Liquid in gas Gas in liquid Liquid in solid | Solid in liquid

18-124-1A-40000 * * *
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Marks:48  Time:1:45 Hours Paper -1 Subjective dei Lg4 gr 1:45:5) 4817 :/»:.;d/ gﬁﬁhldﬁ

Note:~ Section B is compulsory. Attempt any TWO (2) questions from Section C. & .;»l,lﬁéu:‘lf”céf X f'fﬂ_q..d Hpw e 1d
SECTION-B /. AL ~2 24
2. Write short answers to any FIVE parts. (5x2=10) ,é; F el >4 Z_Azlégaéf 2
i. Define motecular formula with an example. -’é:t}"{df’*ulé»é’/‘?(fﬂ:ﬁw{?t i
ii. Calculate formula mass of K,SO,. -é(:‘”dt Uy BE K,S04 i
ii. Write down electronic configuration of magnesium. _g_’._’,“/?‘ﬁ.'ﬂ/_ﬁ,_ﬁuf‘;f:‘? i
iv. How is U-235 used for power gen;ration? ‘.“at'lgl_f@b-?ld:é L s U-235 v

v. Define atomic radius with an example. -’é:di"/ul’é-é’/"(;ufézﬂ' v
vi. Why in any element, atomic number is more fundamental property than atomic mass? ?g—u{ Ot d)lf'-tf&':ﬁkf( A mdndl i
vii. Differentiate between group and period of periodic table. -é&/wiﬁ»h@af CiF \_f;w Vil

viii. VYhy does ionization energy increase in a period from left to ‘-"c-Jﬂux({-J/’J{;uff:fmG”’/.J_”I:cfu_’ldiﬁ&ilu:y-fbﬁ .
right and decrease down a group? 1 wE

3. Write short answers to any FIVE parts. (5x2=10) £ 2 ALl b 3
i. Why is BF; electron deficient? ‘74‘:--?!&(JJJ7"/‘~G’U£BF3 K
ii. Write down two physical properties of metals. —'é‘gwlfcakf’; GJ’ w8 i
iii. lonic compounds are solid. Justify. -éeuw/:-ﬁdfﬁgfvﬁf" i
iv. Define the term “boiling point”. Give an example. @@ —é}dﬁ'v_f’-é-é’f«f—‘—;'{v@/'z’ v

-2_6."4&2: u(}/(él/‘).l'.f v

v. Write down two causes of allotropy. %O 5
vi. Whatis an alloy? O%{& S 2 i

vii. Which one of the following solutions is more concentrate
one molar or three molar

Irie i Ir i

) viii.‘\ What is molarity? Write down its formula. @ _éﬂr‘/mﬂjl?c“_}_f S A viii
4.  Write short answers to any FIVE parts. & (5x2=10) -254 Feliz L,lzlégc_af 4
i. What is meant by non electrolytes? néxample. -é}d@v{!?q_:l/yfc,u“"u;/‘glut i
ii. Write down the principle of ele @ A 20 i
-iii. How does removal of stains help’in prevention of corrosion? Y{.b‘ﬁ»d_ljgfu".":ﬁi_’k-gwfﬁ/r i
iv. How is electroplating an important process? ?gdfﬁlv{ld_/ué:ﬁs/’-gl v
V. IName any two very reactive metals? -ért'f-}".'igd/crﬁnd Jf RY
vi. Write down any two uses of silver. -a‘.;um»;.é/&y Vi
vii. What do you mean by 22 carat gold? Sl ¥ rb1 722 i
viii. What do you mean by metallic character? Tl /,l/c;x_‘léu@" viii
SECTION -C /v »

Note: Attempt any TWO questions. Each question carries 9 marks. gA9L iy ﬂ_é{ 7 a@lléaﬂlr»z_f}fz.’«]

5. (a) Whatis a molecule? Describe any four types of molecules with examples. (5) -éuy.dt‘zd ru“ulgo’ d/ Jﬂ,:.at‘.’{,gf J{.al. (W) _5

(b) Whatis a coordinate covalent bond? Explain itwith the help of examples. (4) -é;»u,f lr—uJuﬂﬁ'?uJ%fcfl'yq s 2T ()

6. (a) Define Quantum. Write down the difference between L 2w - P R R
Rutherford Atomic Theory and Bohr's Atomic Theory.  (5) 1 F 0P 5 LSunE L o Son s s P ) 6

(b) Write down a note on experimental verification of Boyl's Law. ) L7 ..:J/,J‘Jﬁag A Suss Zafis
7. (a) Desribe in detail the electrolysis of water. (5) -Z_:uy.c-_bh‘y 5 /-."s}gleg (@ 7

(b) What is meant by “like dissolves like"? Explain it with examples.  (4) _z’-,‘(:zlé:cwdu)(‘?‘.‘.;.,l 1< "like dissolves like” (=)
18-124-1A-40000
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Note: -You have four choices for each objective type question as A, B,

. -ZE;/;Q#LLL:G}I:JI(»z:_,u_-/a-c.gtuu’big,&védlxﬂ,q&}m-wéz,;D MCBA M2 Rl L g iy
-(ﬂ/}ﬂw?'ﬁl/!{‘zL}tu‘b/f{!&-[{/&‘LL[{_{U)/’UOJLJ‘L.—Q

C and D. The cholce which you think is correct, fill that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A Uii_»)

Q1 Questions /= ui» _ A B C D :
' Ty s . . T
1. AP s s0, +5 +6 +7 +8 |
Oxidation number of sulphurin H,S0, is:
2. gty bk Fe,05.nH,0 Fe, 0, * Fe(OH);.nH,0 Fe(OH),
Formula of rust is: - ' :
LAGALHC LUfe s e, | gy 2y el ok
3. ok U ,
Which one of the given elements does not Sodium Potassium Calcium Carbon
react with dilute HCI? Afé\
e, '
" o td, Muiily sy | ClyusO, N, 4 Hy0 C) 2H, 41 H0 HCl s H;0
E "Which pair has polar covalent bond? O, and Cl, Hzo&@@ H;0and C;H,; | H,0 and HCI .
?) &
1 & }/ )’ ) :
. bl gy By JS % @ & & S
’ - ar -
Tyndall effect is shown by: Iuii é Paints Jelly Chalk solution
' solu @
- " o b '-, O
6. b byﬁum\/’da’ gg&% mg em™ g dm? kg dm™
" | The density of gas is expressed in: RS
) o’ & AN ) L 1 r
bl I b e AT F RN | S LE 4 SF L Fra SF LA
7. | When a saturated solution is di Vit Super Saturated Concentrated Unsaturated
tums into: saturated solution solution solution
‘ solution
Yz;,/z..,/&z_%f);ql&fc_uﬁﬁ)ﬁié_; L o s N 414l
8. | Which one of the given Halogens has the Fluorine Chlorine Bromine lodine
lowest electronegativity?
te g SO U e it/ £ L s
- 9. | Which of the given compounds is not CeHe NaCl KBr MgCl,
soluble in water?
10 ‘ ‘ _q_ucﬁ‘di,/p /,J’LT.Q 4)"':-/T ) 4')‘”..-;7@'- 4%-;71&
" | The p subshell has: Oneorbital | Two orbitals Three orbitals Four orbitals
11. -1 /r ¥ HySO, 98¢ 9.8g 98 amu 9.8 amu
The molar mass of H,SO, is: "
bl e e | T Lo o v
12. | The most abundant element occurring in Oxygen Hydrogen’ Nitrogen Silicon
the oceans is:

R ——.
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Time  : 1:45Hours Group : I Paper (D 24 gt .7,,} 3 &5 2
Marks : 48 » Subjective (U1 oyl [~ 8
Note:- Section B is compulsory. Attempt any two (2) questions from Section C. ezl e (et F, PR 3Ts )
SECTION-B (».» ' _
2. Write short answers to any Five parts. (5x2=10) -ézih"‘:’z/‘-;‘c-"ﬂél;éaf -2
i. Define radical and give an example. _g,du,v‘(,”,aéqf;&ﬁb it
ii. What is Avogadro’'s Number? Give an example. ' -é"d"'vqu——\"/l/&/méf}!l i
iii. Write two observations about Atomic Model of Rutherford. & YA AR PO
iv. Write electronic configuration of Aluminium (AI-13). _ ‘ -&o(ﬂﬁfvf’;‘fld A1) L v
'v. Write difference between periods and groups. —'ié]d/'dl_/né(/':ful Jé[; i
vi. What is effective nuclear charge? ' e el /’:K:f'/“r - ‘
vil. What is meant by first ionization energy? 94—"/?’4—L§ilckfbrf7& Vi
vili. What is meant by electronegativity? 94,—;1/1_/4&}':?;/‘(31 Vil
3. Write short answers to any Five parts. (5x2=10) _é{/._-,y,-:/ﬁ[;,mé&‘_&; 3
i. How do elements attain stabiflty? S LTS U p I |
ii. Differentiate between lone pair of electrons and bond pair of G iR ST 2 b o ol md i
. electrons. . Co b
iii. What is the effect of temperature on evaporation? ?4‘,‘;”‘;[?’4J14_£’“’é_2 < iii
iv. Define standard atmospheric pressure. Write one of its units. —é&'!vf ] 'édﬂd/‘AJ/!’L’-JLbb v
v. Why are the densities of gases lower than those of liquids? o ,u,{/)_‘/".,' J/f&/ddb v
vi. Whatis meant byi% ? O<Q> esl e Yo i
, m R
vii. How is dilution of a solution proceeded? %&% ceQedd SESS v

viil. 'Why does suspension not form a homogeneous mixture?

@ sl bud e i
w E7Nr ALl b 4

4.  Write short answers to any Five parts. (5
i. Differentlate between oxidation and reduction. @ —édfld-'uyéw'u%?? i
ii. . What is meant by oxidizing agent? O e p gé__ﬁ,-;_’.,_f.;u_)? i
iii. Define galvanizing and write its advant ) __é;g}{,m,,;éqf?dj;wf i
iv. Does aluminium rust? ‘74_@..,519’(:‘?,&1(_/ v
v. Name any two very reactive met -é(&ﬁ)”"%ﬁd; ;4.;,0“[};’ v
vi. What is meant by metallic character? ' ?Q:I/Lfc—)gfu@‘ i
vil. How are non-metals essential for the existence of life? 0 TUid»/g{&"‘ubéééu Vi
viii. Write the,trend of non—met_alllc character in group and period? ?QUUM/U_(/V@QJMZ ,;,_w;.?,,f Viii
"SECTION-C /r.» ,
Note: Attempt any TWO questions. Each question‘ carries nine (9) Marks. AAIL iy 4 ,;f aleLale,c_sz..'J
5. (a) Define molecular ion. Write any four differences é(}fufcf”!:gbu'dng_édﬁddf}zgl, (W) 5
between a molecule and a molecular ion. (1+4) .
ik
(b) Draw a labelled diagram to show the presence of BIEL LS 8nr $idsatattas )
protons in the discharge tube and explain how were (1+3) 6!‘5,” L) u"?:dl}:/fé:;&: ulc’—l:-(l/u:‘
canal rays produced? e - ; = v‘f"; '
6. (a) Write down the properties of metals. - (5) : ,é,_«/;,t_,‘,)(j}‘t‘ W) .6
(b) State Boyle's law and explain it mathematically. (1+3) _zéyu,g}vduwoéuwm‘ju_ (L) =
7. (a) Define electrolysis. Explain electrolytic refining of (2+42+1) u‘@_:/‘-‘:'i(fdib.ﬁ.(}a_éqﬁd -/.J,;!:‘L wn 7
copper with the help of a diagram. -éub‘:dbﬁ’w/ e
E 4 ¥
(b) Narrate four characteristics of colloids. (€] fg.':ug,'_:,y,,&,wj,?u; )

17-123-1A-44000
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Marks : 12 f Paper Code | 5 ' 8 87 Swl~2-23 12 /
_4)/c_u‘§‘l;/ju/-/bdlbLufi._/ur_ufu:/bé;Jd..lrﬁdl/;/‘éb’dl!-wtf.;:D #C,B,A uU:“j/bLg}txﬁ ~ ..J
N _!:r/:‘jbhul.?uflpﬁ-.«u‘({é_///ub/hL.//fu:zbubc....fl
Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark
(SECTION-A i.») '
Q1 Questions /=i A B c e .
. 94_‘3(,8}7/4{)’/&;4%0[(}:46;‘0 J,_yg,‘a'l (5‘5"_‘))/‘5' d/’“?bﬂr &’#,}3' f
. Along the period, which one of the given decreases? S Electran . Electrong >ti ¥
gthep ! & ' radius affinity energy cranagatY -
S / s T
9. _4_/%_‘ T¥ 2 2LUs HNO4 +3 - +6 5
Oxidation number of nitrogen in HNO; is: - i
5,4 b; A . (‘ﬂ ;5 _:_, y '
\ edbpedons| HIE | g gy | ehidu OLiie) |
. . Chemical . . Rusting of L :
The most common example of corrosion is: - | Rusting of Tin . Rusting of lron
: decay {\Alumlmum ; :
3 S ST big b L HO et | by @ Ly ko !
; Thq element which will not react with dilute HCI : Sodium (&a\l Potassium Carbon '
2 R o % w i
5, -4t rUimmHg 24 ¢ K0k« 60°C 17,67 > 55.3 149.4 3551 |
Vapour pressure of water in mmHg at 60°C is: % i
& ]
Yoo i (o L 7l
_4_(3M£"”41LLL/J(J?-¢/}’(I/&IOOU” em’ fardr A 9 % L % e % e Y% — o
2y L 22l L
6. | ifa solute in cm’ is dissolved in 100g of t o v e U
solution, the percentage is called: L1 Moy Yo% —%
s \% m v m
7 s eI et | o A gy Fedy -
Which one of the given is a ‘liquid in solid’ solution? Butter Fog Saltinwater | Sugarin water
nﬁ;«__'i.w’:/:‘télruiﬂ,c,%:fd}
8. | How many electrons does a triple covalent bond 6 8 4 3
involve?
o Mg 1T 0235 Fagr | 5% IO s EL
' When U-235 breaks up, it produces: Electrons Neutrons Protons Nothing
Lol beablost kg o 2,0 e | sy i)y T RN
10. 4G P8 L Mo
When an electronegatlve element combines with an Covalent Polar lonic Coordinate
electropositive element, the type of bonding Is covalent covalent
The compound thatis a polyatomic molecule :
12‘ _4—b'l(ﬂwfdiiufluli‘j$101 HC] C6H6 NaCl ”20
The compound that shows formula unit is:
18-123-1A-42000 K d %
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Time i 1:45 Hours i Group : II Paper (D) %4 ! I/”:"T’/) gl-‘45 FR )

4

Marks : 48 Subjective () S L- 2-)3  48: T ‘
Note: - Section B is compulsory. Attcmptba.ny two (2) questions from Section C. ez lyhrne $fet (’ ry;q,d He 2 sked
N (SECTION-B /».»)
2. Write short answers to any Five parts. (5x2=10) E7r F Lkl 2
i. How will you differentiate between Organic and & 15U A, Jﬁf‘ﬂ ut.,@f J
Inorganic Chemistry? stu.fug
ii. What is the significance of writing an element in a symbol? ‘ ?4‘_.;81_/5’240"{&)5& i
iii. Define isotopes. Write the isotopes of hydrogen. ,ééluﬁyjfi.duﬂuléq/dd;ﬁ i
iv. A patient has Goiter, how will it be diagnosed? ‘.‘[,LL/JU-E?JJI :q..}‘ffcﬂ/afl v
v. From which element do lanthanides series and : c&ﬂ-)-fu"{z/_«if:l;f'gul'/_,:ii_;wig R
actinides series start? ?dé&ﬁc)/“
vi. Why does shielding affect increase down in group? fe Dkuﬁo)déaﬁ.f;ﬁ&@ljﬁ’ i
vii. Why is the 2nd ionization energy of an element ul_,ic,(ﬁ:d_/'icﬂ;:’bﬂd/»&%lf Vil
higher than the 1* one? . ?4,&,»«0{
viii. Define electron affinity. -Z—':.ef/JJL;“l’lu'/-a' ‘..v.iii
3.  Write short answers to any Five parts. (5x2=10) -é{/’auzf"'é,lzlégg_éf 3 )
i. Define single covalent bond. ‘ ,éq;’”dﬂ&&ff' A;il

li. Write difference between lone pair and bond pair. @ _égid)gﬁﬂ_,ﬁb;l/";u) il
iii. Whatis meant by polar covalent bond? @ Sl p !g’c.}l,ﬁ',ébﬂg i

% %O SOy feClnty #7s8 v
v. What is meant by transition temperature? % Tty L»’z,g-ﬁéﬁil/' RY

vi. How can you distinguish between pure liquid and sol@ ?défdjcé(uyuécf‘)’ul&bu"&vf Vi

@ _éqﬁé oty i ’
rixture? 2 ttud £ Hradt® il
(5x2=10) Ejoln B L 35 4

iv.  Why are densities of gases low as compared to solid and liquid?

vil. Define solubility.

vili. Why does suspension not make homogene

4. Write short answers to any Five parts.
i. What Is stainless steel? ?4,(::?![&’4}-‘;/1" (12
ii. Define alloy with the help of an example. _&ifibéd(‘/q/?gfg;ﬂl ‘.'ii.'
iii. Wrlte two methods for prevention of corrosion. -4’*‘-54 ¥ &)»LJV-@d‘J’;f il
iv. How does electroplating of Tin take place? ‘.‘4‘-(5:14( Sk S v
v. What is meant by 24 carat gold? ‘ Cenl W dri 324 v
vi. What is the difference between alkali and alkaline earth metals? ‘.‘q,d,"l{u’i :WJJIJIKJI/:I&OI .\ii‘ .
vii. Write two uses of calcium metal. ,af.-,uuf’m.f_d"-’ﬁ*-’ Wi
vili. Why are silver and gold less reactive metals? et )"rr".(ld/,fu;:’ﬂfuh}’ viii
(SECTION - C /r.) |
Note: Attempt any TWO questions. Each question carries nine &9) Marks A ©@ILJy 4 -Z’ aLlﬁLaWk»;(}f:&)
5. (a) Define chemistry and explain its any four branches in e U AT S S nEE s S8 2 () 8
detail. () . ! L
(b) Describe postulates of Bohar's Atomic Theory. 4) -éu(_,.fuﬁ:}"éduiu@léﬁi_ ()
6. (a) Define hydrogen bonding. Explain how theée forces  (8) /:h/&éc/U;Jayul-éqﬁdjﬂduﬂ () .8
affect the physical properties of compounds? vuzén;m;:/ur!/,_»,yﬁgfdmgf . '
(b) Explain the factors which influence diffusion in liquids.  (4) _éubxdi,‘fg&.bi.mm}l/. ui:fidiéb (W)
7. (a) Define electroplating. Describe electroplating of sitver.  (1+4) _éubu@:}:’ldu"éqﬂduﬁ:&:}% (L) .7
(b) Describe ény four characteristics of colloids. )] -éuggyﬁ,w&f‘f;kuf (&)

18-123-1A-42000
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5

I: '34

L2150 BHy

aistry S.8.C (9*)-A-2022
er :1 Group : 1 Objective Lf’/’ “,",’,:s;/)/
ne : 15 Minutes (iv)
lasks @ 12 i Paper Code | 5 t 4187 - -

..é)/;’c.cﬁy_/ztfo/'b&f b é-,«b?uuc_ufu;ﬂ;if:,,)'d.l’/édlrﬂ{,(ébﬁlz-wi{&;.JD »C.B,A v}«“ﬁj/b&gj'}’ﬁ -y

12: 4

R 7 i Umss”® J /. }'/ \.‘.‘ULL/{[ uu'bu_L_]c..{l

is:

Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think Is correct, fill that circie In front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will rasult no mark.
(SECTION-A (ii.»)
Q.1 Questions /=iy A B C D
x,) & =, B
1. ?4‘,!::7&//,)-/?/&./():M 1 3 2 4
M-shell consists of how many sub shells?
I; . ..'. 5 o .

2.1 -é/tﬂt/(wfyuz H,80, +4 +2 +7 +6

Oxidation number of sulphur in H,804 is:
/ 3, -y b L Fey0y.1nH,0 FeyOy  |Fe(OH)y.nHL0|  Fe(OH),
L Formula of the rust is;
(@)
4 | The halogen which exist in liquid form at room Chlorine § <> Bromine Fluorine lodine
) temperature is: O(\Q{') ..
_.;,L-ugdu’ufgz;,b/ud:w,p! @L Az /':‘&l /‘:'iﬂ:.f

5. | The instrument used to measure pressure ir}g&%ometer Barometer Altimeter Galvanometer

laboratory is: @ 0
T < '

6 e 0S5 8 2 i Lk el LF
Which of the given gas diffuses Hydrogen Helium Fluorine Chlorine
RN Y PYs IOOLM».:M S S

a 0 ;0 ) )

7| Number of grams of solute dissolved in 100 gramg /Mm% e % vim % v
of solution is called:

8. "B LBV et and 1,0 CyHy and Hy0| Ny and Hy0 | Cly and 0,
Which pair has polar covalent bond? !

LG B AL sl ik ok Ji b Y,

9 long form of periodic table the horizontal lines Groups Blocks Periods Triads
Aol e

yaty ks G
10. gLty 100°C 800°C 1413°C
Boiling point of NaCi is: 3
11. B ‘ '4’”’)’3‘%/"”% CH,0 CHO CyH, CH
Empirical formula of benzene is:
b Cm . )
-4..‘../-'&.414.,/%%!4.0;&.(’{,9%,/ (j{(T (fu}& L1k e
12. | The most abundant element accuring in the ocean|  Oxygen Hydrogen Nitrogen | ~—Silicon

15-122-A-38500 Yk k%
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RoliNo. | [ [T [ T 7] erauuid

mistry $.5.C (9'")-A-2022 $ A
)e @ 1:45 Hours Group : 1 Paper (D 24 e : .,«:/ s |
arks 48 Subjective (38| éw ‘ - Q/, 2 : 48 :
fotei= Section B is compulsory. Attempt any two (2) questions from Section C, LMzl Udrne . g_utf" e
(SECTION-B 1n=s)
2. Write short answers to any five parts. (5x2=10) -é{ Faliz L,!Zlékc.af
i How can you differentiate between substance and mixture? ?L@fd}{% "/.,’(' -2 G
it.  Why jonic compounds have high meilting and boiling point? TUZLnuLJu::.’&I{ﬂHQI;&’L}.SQ/JKT K]
iii. How many moles are in 9.0 gm of Carbon? ?ufd'..ﬂdr‘é:’./u:yl/Q,O Lc)ﬁ;b’ e
iv.  Which are two defects in Rutherford's Atomic Model? S’u!::.dﬂf’l'i}»[.(};‘b&l 7 P
v.  Which isolopes are used in radiotherapy? ?u‘fz.ndb‘plgfvfrafc.c}fuidlﬂ,_{&/ RY
vi.  What are two important features of long form of periodic table? T‘,L?Lf_.;«k:"’ﬁl J,(jd.’-"‘-_ﬁu,..yrru(i..fﬂ RY
vil. ~ Why ionization energy increases in periods? i ?q_G'Zufcﬁj,gﬁJ}lc/iiéfT i
viil.  Define Shielding Effect. i Ey I8 f 2 i
3. Write short answers to any five parts. (5x2=10) l .é( Felin L,M&L¢_df .
f. Whatis the difference between Donor and Acceptor? ’\ te ) qu:k:j*luu»‘ i

iii.  Write any two properties of covalent compounds. -2’:«[/1“»6(}1{5&59&&%{ il

ii. Define Hydrogen Bonding and give an example. ' @@ -Z")L)"ﬂ""—éq;éjﬁtf’/ﬂ -
>
@ (TR P AT I

iv.  What is meant by Dynamic Equilibrium?

<&
v.  Whatis the difference between boiling point and freezing point?@ ?4.0)?(}5&{,3_{3),,[&1(_@1,{ v
vi. perature of Sulphur. _éia/,f-,,)tﬁil/w/"’i‘q_;l/yc.,{-jgﬂil/‘ Vi

vil, métals? fe. S B,w:m,,fd"i Vi
ik o el i
a. "”"j’q‘ e -zfg}.:aw;‘é.méyc,df 4
2 ' ESII B e
i, A7 L) é‘% b ?4_&{-}(/70'4(:,!?4,&{(;{,:‘)' i
i, Wi ts useg d ion of so _.;“MWW;,E ALP1IL LS WIS
iv. Describe any two characteristics of ¢8Tloids. ' -aéu_u..;w* »deu_;ﬂf dv
V. Define Non-Electrolytes. Give an example. ,ﬁ';db«.{l-éﬂ.&/é;ﬁﬂ;}‘:’lu& R
vVi.  Whatis a Salt bridge? Write its function in a galvanic cell. _";Jf’,wumd:vﬁ}.qu_yg,.y(, vi
vii. Whalis Alloying? Give an example. _é;d&u_ﬁv;_pu?w il
viii. - Whyis O, necessary for rusting? Yq;.d/)/Utfcﬂ{ngfLﬁJ; viii

DALy ) froe
SECTION - C (Each question carries nine 09 Marks)

5. (8) Whal are Canal rays? Write any four properties of these rays. (1+4) ,54/’_-,9«#,9(;8,(6@;?4,,;,9(43,()& (W) _s

(b) Describe any four branches of Chemistry. (1x4) _zfu_(gufe,w&fwyf )
6. (a) Whatis a coordinate covalent bond? Explain it with (gd!cmduﬂ‘/!‘dé,{éﬂ,@'bf.‘,_‘dﬂf ) _s
the help of examples. (2 +1.5+1.5) _g{fau,
(b) Define Evaporation. How it is affected by different factors?  (1+3) T(ﬁL/?bJ)}Qcﬂc.l_zicqidaz,;@gf ()
7. (a) Define Electroplating. Explain electroplating of Chromium. (2+3) -éalﬁ;&u&;}‘:’ldff;/.ééqﬁdﬂ;/:‘l ) _7
(b) Give comparison of any four chemical properties of alkali (1x4) -éé:;iﬂ’._-,i_m}(}gf-flyo’&fd)"fiAu'tb’lmuf’l ()

and alkaline earth metals.

15-122-A-38500



RollNo. | | | | | [ |rwhued

iy $.5.C (9")-A-2022 A
. a1 Group : 11 Objective LSI':/ [ 33 :*:"f [: 24
ne 15 Minutes ' @ 15t

darks : 12 L Paper Code 5|48 4 S-Sy e 4

_..,.,/c,un/,t;:’. 1184 Lulih/»c_u‘.u:/bé-c..).c‘.krédlr//db’dii u!é,c_)D 2l C B, A uklfj/bédlr/ -
-Kﬂ/}“?wul.?ufl(}fuu"(fl_/’) /uﬂLff/u:/lmhc..fl

Note: -You have four cholcgs {or each objectl\a‘a typs questlon as A, B,C and D. The cholce which you think i% correct, fill that circle In front of that
question number in yovr answer boak. Use marker or pen to ﬁll the circles. Cumng or filling up twa of more circles will result no mqu

(SECTION—A d:l.l)

— 5 ; : T “ " -
Q1 Questions / ;,u;;:f » A B c D
il g : . i
i ?4&@»’:‘-&4685%4 I et o STt S L wE sy
Which one of these settle down in \A}at‘er’? Honey Kerosine oil Benzéne‘ NlaCI
. bbb AL | U I IS 1
Hydrogen bonding is represented by: Dotted line Single line Double line Trip!e line
- AU S
3. S‘.’T,dzab){l); PRAD 0, cl, @ Hel H,
Which one is a polar molecule? ‘ @
3 ' ¥ O\\/ .
4. ‘ 'édmf&jﬂf 2.70 ger _JQ 186 gem™ 10.90 gem™ 19.3 gem™
The density of Gold is: > -

) ) N _ ‘ L e

Deuterium s an isotope of elerpen:{: _ @ Carbon Hydrogen Chlorine lodine
) . ,‘i . ‘ ’ N
6. Pl Heu shw ol
' rAH nﬁﬁ“ﬁ'f&als - All imetals All metalloids
: fw ‘g T ' i
: 7. i 130 amu 174amu 12'&)0 amu
‘ Formula mass of Potasslud} Squhate (K2804) is P
awwm.ﬁcﬂ)&f,m.{,dcuic,,-' B y s w),‘ i K
i/ J o ks
8. Which one of the glven can be separated by ) < ,
t Mixtures Elements Compounds Radical
physnca| meansnnto its components" _ / ' MR ,
9 | . 4R ‘WJ Fey 0, .nH,0 Fey0y | Fe(OH)3.nH,0 |  Fe(OH);
Formula of the rust is:
e v e A ; i
.b 10 ?4’51,‘)?6’{/"“"'“:)2‘9” /" ﬁ:"éf ("::’i cx
Which one of the given metals is the heaviest? Osmium * Platinum Uranium Cesium
. ) " : it [
F 11 = A o &;'/.Jb’(.iir y
" | Universal solvent s: Ether Water Sodium Carbonatel  Sulphur
| ; i . : by ; |
A « i ; -l . . _'H‘ ' - b
b« 12. st i JJJ/ 274 4 2 | 3 “~ B
How many typgé of electrochemical cell are?

16-122-A-34500 kK




i,
vii.

viii.

Vi,
Vii,

Viil,

Vi,

Vii.

vili,

y ' S.5.C (9")-A-2022 L/{/'/h
: 1:45 Hours Group : 1I Paper ) 24 20 hv,,_f &5 3,
s @ 48 ‘4 Subjective (315 S ( p 48
. . { : | i ‘.‘ ! P » )
‘= Section B is compulsory. Attempt any two (2) questions from Section C. ..E'_(-;a“_p?:T(,ujlf:Jardchﬂ(‘f,ﬂ-ﬁ,‘.d/’l](‘»‘/’ g
(SECTION-B /1)
Write short answers to any ﬂv¢= parts. (5x2=10) .c"l‘(//ul,li/é,lﬂaz_éf -
What is meanr by diatomic and triatomic molecures? Give one é//’dt/J(j».fl A=y Lfc.drab..f&:d!ml_ﬁiudu d

example in each casg.
How does homogeneous mixture differ from heterogeneous .&& '/’J‘/;fl(jgfl “Ju"{ﬂ_é__/nwac{/(fw)/u/gf s i

mixture? Give one example of each.

What is empirical formula of Acpl&c acid? Find out its molecular mass. é(?’db)fawul?+l/u,- /lsd‘ :‘Ikulb@! i
How many electrons in “K” and “L" shell can be accormmodated? Give example. & :dl«:?gﬁéfw/:'lz_(dldf Lotk v
Whatis “Plym Pudding” theoty? Explain. _éfér,vg,,tfygu,,! "Lit
Why the bigger size atoms have more shielding effect? ?jq_L'!lu::(n‘_.de-@! ’)?Lﬂ}:l[.'/'bz_z Vi
What is meant by groups an ] peripds in the pariodic lable? ?é_:l/yc..iéf,ul ,uf&f&_/sg Vi
What is the ¢ontribution of Qéberéiner towards classification of elements? S’c‘.;jl;/yyﬂl/.;ic‘ﬂcﬁ“" lb’égh‘/:&l i
Wrlte short ahiswers to any fi\";e parts. ' (5x2=10) -é{/-‘*{-,’ﬂl/"}L.Ml&Lq(}f
Define DouEle Covalent Bond with an example, éf@db;ﬁu’ﬁd}LJ:fJi i
Why bolling boint of water ls greater than alcohol? @ Y.;.u/.:t;:.d’ﬁlwlg._ﬁlib’dt i

Why HCI hds dipole-dipoi; forces of altmaction? ?u‘BL(}Lu//Jdgdb.d{dlmlé HCl i

Whatiis the effact of surface area on evap?ralIOn:‘?"' P "5 @O e o e 94.&;7/!111()10) /(/u’ oo
; » v.f.ﬁ SRR

I

$ oL I_zw,»,,w,«ggb
vw)“/nu,(‘u/ﬂm,k

T ¢ : éULuUU‘ iu[—(’u

Define Densny What is the densaty of water

Write any two propemes of Nquad

Why Silvef and Gold are lesa reactive metals? - ¢

\ oDt ol 3 40 oo

Write two uses of Calcium.

Write shovi answers to any fi fvg parts < (5)&2’410) ?f/XL.JW}/LA/Ié, 4&(};
Whal is the difference betwee ed and un=salurated solutions? V4,_u/£/u'-'/)’,;;;’—'um1,_,1,-
Wrne any two differences n colioids ang suspension. _&_‘{JJ);:céfu: (f'/»l;}llf
Why do we stir pairits thoroughly before ising? YMLHUJ{C)JIIJ?;EC_JUPIK
Why the szg%pen,slion does not form a hamogenous mixture? ?é._Lu"fu/)’( J/r:

Write any t‘l;lo rules for assigning oxidation numbers. ' - érw»c_dfz_u‘wd/(f/
What is the difference between c¢athode and andde? 4_0/Ud'u-wl»’/
Find out the oxidation numbers of the underlined elgmer}ls. ci((}’ﬂ/u)yfl'[.u’ct /»cu'd HOY)

; @ HNO, ®)  NajS0, (

Why an Iron grill is painted frequently? : ?ﬁ,t'_b_l‘):’uf'bfz,/lfdl,(gg/{'f

' ‘ (u’/iédlrﬂ) (r/
SECTION C (Each quest|on cerries nlne 09 Marks)

(a) Comp;are Rutherford'’s a!omtc theory with Bohr's atomic theory. (5) aélrKUJJ/JUIJ//;;ILSJ/JUIJ%m (=
(b) Calcul:x ‘e the formula maas of Potassjum Sulphate(K S0, ) (4) éﬂ”dbﬂnbkuf"fl‘:’ (.
(a) How qualen( compounds are formed? Explain four  (1+4) é(//..,(xr’,bd'uw..)bﬂ‘dddfj V/./bf (.

genera} propetties of covaler\t compound )

(b) State Charies s Law. Write its equation and verify it (14142) _Z%.fgb;dulfc.,f/)l‘dlﬁ,:};(/dul_éug .ﬂd,g @
with experiment. ; - '

(a) Define Electrolysis. Explain electrolytic refining  (2+2+1) " _é:f.‘(yb:dvﬁ‘upv@_,‘f:’ld/,VJLL(,F;;Z-:...Z‘J(S%J{,“:’! (.
of Copper along thh diagram. . .

(b) Whatis meant by electroposmve character? Give trend - ulé,_r,,k’dé;:";,‘@l?q,,y {;"L:,:'b;’ﬁp}‘ft (
of eleatropositivity in a pencld and a group. (2+2) . Ul'fju:

16-122:



Roll No. SH L‘ Annual 201

Chemistry (New Scheme) .3/ ( (U «I LAUd£)-(IT) “F D 4L
Paper:I (Group:I) ,.] (Academic Session 2018-20) (.,,fu;;) I
Marks : 12 by Objective S‘}:':gl 12 /
Time : 15 Minutes Code : 5483 < 16 =

/c.‘-jg)?u’.}u;w&wé.,w_vuc_u:u;;ué:;.:&v&d:m{qmm LD s C,BA szl v i)
-fﬂ/raﬂv'ﬁuﬁuﬁ':—u‘ L/é/éb’_ﬂ;('_.fgu:}bu&}cvg -
Note:- You have four choices for each objective type question as A, B, CandD. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will !esult in zero mark in that question.

1. 1. Electronic configuration of Alkali metals is it R 60 SR F1 A

ns'np © P’ © - ns' ® s )

2. The oxidation number of hydrogen in metal hydrides is -q—/.icﬂ,‘r" T 6§ XA SR -2
+1 (D) +3 (C) -2 (B) -1 (A)

3. Example of weak electrolytes is -+J¢‘Jgf:{lh}gl nF -3
NaOH (©) H,S0, (©) Ca(OH), (8) NaCl  (a)

4. Which one of the following solutions contains more water? @u.)y[)g ST S Lyl -4
0.25M =)} 0.5M (©) 1 @ (8) 2M (A)

5. Tyndall effect is shown by o {& < et gl ¥ L 2 5
Jelly JZ (D) sugar solution S @ J% (B) chalk solution o S b (A

6. Which one of the following does not affect the boi int?  SQa U St 2 gaiiy Sz e LS i -6

intermolecular forces 7/} / (B external pressure ’ /‘.4[}:; (A)

nature of liquid & (D) initial t.emperature of liquid ,5-/{ GU;.I ¥ él. (C)

7. |dentify the compound whi t soluble in water? k.u:‘ir%‘)’u:[}g}il,f Vi S S b 27
KBr (o | ‘MgCh ©) CoH (®) NaCl ()

8. Which one of the following is an electron deficient molecule? ?.;.J!fsk‘fd/h}gutdgpt ‘/:;,,J:J_'; s -8
NH, ©) o, © N, ® BA A)

9. Which one of the following halogen has the ?q.(fc'../ d,:i‘g:}gi SPlr St Jits -9

lowest electronegativity?

jodine ¢/3£€T (D) bromine 14 (C) chicrine c{nr (8) fluorine gA (A

10. The electronegativity of fluorine is - & 5, S P 210
3.0 (D) 4.0 (C) 26 (B) 1.0 (A)
11. Which one of the following shells consists of three subshells? T{-g}? 4 )-’../‘,f JC‘ Ufc..u:J_s.,/’ -1

shell L & (D) Shell O (£ (C) Shell M £ @® shel K L (A
12. The mass of one molecule of water is gt UL ¥ d;ﬁ.g&&g <12

18 kg (D) 18 mg © 18g (B8) 18 amu (A)
15 - 119- 43000 W&




Roll No. Annual 201

Chemistry (New Scheme) (ﬁ’u‘&f « I :«z&du‘ﬁ?) (ﬁ‘ <) U~
Paper: I (Group:I) (Academic Sesslon 2018-20) (v:/uf ) (I .;{ ).
Marks : 48 Subjective (J&n)

Time : 1 : 45 Hours & 45 =)

-2,{(/‘:-:«&!.6&@0!:’ (Z)uc.‘jfa-u’:ru/.q_divdﬂ.o iy
Note : Section I is compulsory. Attempt any Two questions from Section II.

(Section -1 QZ'.Q)'

2. Write short answers to any Five Parts : (5x2=10) -Zﬁwwaﬂérlz'étéy -2
i. Define Biochemistry. v S Ey
i. Define chemical formula and also give one example. St Ew § v L i
iii. Calculate formula mass of K,SO, . e S ¥ K,S0, i
iv. -Write two properties of neutron. -é[/’ =l 2 Suste -iv
v. For what purpose iodine-131 is used? % S bl &L ST 131 v
vi. What are the Dobereiner's triads? St sds d LALs i

vii. Why the elements of group 1 and group 2 are called S i‘u:f?{w.f J“:i' JrsS u‘“ﬁ L2 y!/ U -r’/ -vil
block elements?

viii. Give the reason for the decrease of electronegativity in -zguk.pJLnHZ&z‘ﬁ/’?l y e &f y’/ - viii
down the group.
3.  Write short answaers to any Five Parts : (5x2=10) -&w“ﬁ/’ﬁ"z"t‘—lj{ -3
i. Define a bond pair and lone pair of electrons. S0ty l!c:-?'f'g'/‘ st ZEL -
ii. Metals are good conductors of electricity. Why? <€) ot Qs S & A i
iii. Differentiate between polar and non polar covalent bonds. @ ) Sk wkeddy gt o Jy il

iv. What is meant by effusion of a gas? ° {&% vq_‘,l/g‘-__uj,étﬁ_‘,_f{ -iv
v. Evaporation causes cooling. Why? % SO tida iy v
vi. What is tyndall's effect? %@ vq_;-,,g_,,pud 2o
@ Spullydie LS SSF A il
2;-,./'?» ’)U’JJ(J uikf" ~viii

OV (sx2=10) a2 LSS -4
idation stata? fe 0/ Y eF AT u“”’; =i
hurin H,80, as .52,*:()“‘ SASITTE o S~ H,SO, i

vii. Why do we stir paints thoroughly before using.
viii. Give any two examples of suspension.

4. Write short answers to any Five Parts;

What is difference between valenc
ii. Calculate the oxidation number

O.Nof H=+1 and O.N of O.Nof H=+1 and O.Nof O=-2
iii. Define electrolytes and electro chemical cell. ~£ -e‘/’ JJ‘ t):/-(!/’? bl Lf" i”/'g (U
iv. How can you prove with an example that %.u”gid/ufréz J_‘_AF d:ﬁ-’&'fr SpES e 4 2L vl v
conversion of an ion to an atom is a reduction process?
v. Write names of two moderately reactive metals. el R IS g i v
vi. Give two applications of silver. i -JJW" L La- o i
vii. State two chemical properties of metals. 2ok —"'E‘"i JE{ » A i
viii. What do you mean by 22 carat gold? Sl | KL b1 22 -vill
(Section- I, - ) =)
ch question carries Nine (5 + 4 = 8 ) marks 4 =9 Iy,
5.(a) Who discovered proton? Discuss its properties . Les 4.:4_.0-"' S '/-39/-'-:’51»'&-%')9’{ (a)-5
(b) Differentiate between compound and mixture. -z 5 ‘:J/'U:/fr sl —"59’ (b)

6.(a) Define coordinate covalent bond and explain it with -zf.:c.u:‘l‘a ) ..-»Li:d’t s é—‘.’/"'. Ji‘& ekl 2231 (a)-6
two examples.
(b) Defineboilingpoint  Surls siit 2 & 4t jud S s e @i O\ S o cnl ZEF S 2y B (b)
and explain how it is affected by nature of liquid and intermolecular forces.

7.(a) Define the process of corrosion and give different -é(fé‘r).j’ﬁil{-c-d st é - JJ’ Zun/  (a)-7
preventive methods of corrosion.
(b) Give any four characteristics of colloids. i f eer” s Ui 3L 2l (b)

15 - 119 - 43000



Roll No. SwL Annua 201,
Chemistry (New Scheme)’j (fow oz L SIEE)- (TIT) (F 2 :>~("
Paper:I (Group:IT) _\/\/ ( Academic Sessions 2018-20 ) (.'_:fl/u) Iz«
Marks : 12 o Objective _((5%>) 12 : 4
Time : 15 Minutes Code : 5486 L 15 1 =2y

/c_cé&//h(o/'b:-b"&f ?«‘JZ;/J:agﬂu:/'bzq’__)&lfédlrﬁ{éb’dlz -u_?é oD xHC,B A .;«U.r?.'«@bd:d'rﬁ SO
-b’n/:;’wv'ﬁu.&d:en‘ L/Z/::.KLL/JU;?DUL.J;'._Q -
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. How many electrons are involved in a triple covalent bond? ?u_rg.'ou:/’?l Zu: Sl wsksy” d) -1 .1

3 (D) 4 (©) 6 (B) 8 (A)

2. Which one of the following gas diffuses fastest? . ‘.‘;_J/j&-};,u’ z u‘! u‘;(c_u:uf -2
chlorine /.# (D) fluorine ¥ (C) helium (C*"' (B) hydrogen (x| (A)

3. Which one of the following solutions contains more water? Yt uj,)g'jggx J‘}' g/&.u:u' -3
s 0.25M™m (D) 0.5™M (C) 1™ (B) 2 M (A)

4. The oxidation number of sulphur in 7,50, i e ATy j g H,SO,
+10 (D) +8 (C) + 7 (8) +6 (A)

5. Which one of the following solutions is a liquid in solid ? @@@étuﬁ L o Uf;.u:’ul <5

fog (D) bronze u’;( (C) butte@@ (B) sugar in water [o*u:cjg (A)

<
6. The most common example of corrosion is % -q..dk? re = ,..rJ us) .6

rusting ofiron I & f‘;_,:’ chemical decay A2y S (A)
rusting of tin &Il & S2 ) rusting of aluminium f _&*/ Ah©
g? e s ff e s b -7
f):‘ (C) magnesium r‘,:,F (B) calcium ,(‘-'( (A)
curing in the ocean is e e wﬁ:l_.ic.wuiﬂé_hé_lg’ggubw -8

7. Which one of the following is the ligh
sodium “ir (D)

8. The most abundant elem
silicon g€~ (D) nitrogen ¢t (C)  hydrogen Xy (B) oxygen T (A)

9. The concept of orbit of an atom was presented by YU P KT L g
Planck i (D) Bohr sy (C) Rutherford bin (B) J.J. Thomson o~ z__.2_ (A)

10. The vertical columns in the Periodic Table are called -u]Lu‘f/l’ d;/utd“ s .10
blocks % (D) rows A5 | (C) groups %) (B) periods Jts (A)

11. 2nd and 3rd period of the long form of Periodic Table gl is L Loy S J-’".ﬂ&,a.ﬂ Y 11

are called
normal periods bait (B) short periods ita et (A)
very long periods i A fYSs (D) long periods b K (C)
12. A bond formed between two non-metals is expected 1o be N PRI IR U & A gt 4y 12

metallic <&+ (D) coordinate covalent ks 2237 (C) ionic 2T (B) covalent wsksy” (A)
16 - 119 -3§000 Wyryy
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Marks : 48 Subjective [ar)) 48 : A
Time : 1 : 45 Hours &1 :45: %

e pp Lty (Qve i o a SV o )
Note : Section I is compulsory. Attempt any Two questions from Section II.

(Section - I Jil.e)

2. Write short answers to any Five Parts : (5x2=10) -z‘.:;.-.,ymﬂéuzl&ga.df -2
i. Define empirical formula. How is it determined? ?q..t'l,rl_/ c}f‘, - -éué’/"" S v tﬁ-.c" -
ii. Differentiate between atom and ion. “ZE WO} AST mfE i
iii. Describe the scope of biochemistry. ok vyAL £y -iii
iv. Write down any two properties of cathode rays. -’45{ f .:«l_.aj ) u’J/J 27 3w v
v. Compare Rutherford's Atomic Theory and Bohr's . -Z:.:JV b’dz.r.“ 'y L’lJ/:i 2l d/.-!-_f Bt J [V AR,

Atomic Theory.
vi. Write down the names of elements of first group ~ -Z5/t £ .,r“% L L1y v/ & L S i
and second period of the Periodic Table.

vii. Define electron affinity. Explain with example. el B “FES S @4 G _vii
viii. Whatisthe trend of atomicradius in periods and R ABIF N VS VRe ] LS s ke £JF s -vii
groups of the Periodic Table.

3.  Write short answers to any Five Parts : (5x2=10) -&MAM/’CJZ!&&;—JI .3
i. Define ionic bond and give its example. @@ 2= oy 7 § 2 LT i
@ “ff'-J/’ guﬁ Al /ﬁg s »3 <
I ANt ARG |
e dfi o r L2 Ay v

ii. What is difference between Donor and Acceptor atoms?
iii. Write down any two properties of metals. o @O

iv. Whatis hypertension and what is its value?

v. What is difference between amorphous solid and e solids? ?;.J) L_fu‘.‘w’ Ju*f s JF ‘flo{' -V
vi. What is difference between saturated and un-& solutions? S O YL P gl sl nasf Vi
vii. Define molarity. Give its formula? & i 2R $ G2y vil

viii. What is true solution? Give any tw: QI : -2‘,’::;)‘-’(‘}' 2 Q’Jf?u_fgé o & _viii
4. Write short answers to any F (§x2=10) -’é:gW!/LolZl‘&e_Jf -4

s reaction and Lol kS vt HDerFe -

i. Differentiate between spo
non spontaneous reaction:
AT W=+ 1 ARTTE O =2 Gagpt ASSTE Popt SLHNO, i

ii. Find the oxidation number of Nitrogen in HNO, when ON of H=+1 and ONof O =-2.

iii. Define weak electrolyte and also give two examples. L S o EwF Senn B n) i
iv. Describe the process of tin coating. -z:ug J' ¥ B L -iv

v. Write two physical properties of metals. -z VY o ler® d‘.‘b »d ;”-"
vi. Why is 2nd ionization energy of magnesium ‘.‘q..an v wtie G A JRIET FF GH RALT S Se- -Vi

very high than its 1st ionization energy.

vii. Describe the chemical reaction of alkaline earth metals “ZE Uk SEI Jl_«(ibd:gful_ﬂ ¥ A DA i
with hydrogen.
viii. Write two uses of calcium. & 1)’.-..»9-7»4 n L ﬁ.g = viil
Q (Section - II, e} )
ach question carries Nin +4=9)ma + 4= I
5.(a) Write down five postulates of Bohr's atomic model. = ég&dit Lo L g (a)-5
(b) Discuss steps involved to write a chemical formula. ol S S B L i ks (b)
6.(a) Define hydrogen bonding and explain it with an example. -a:.’-’.:»w:.:.dl‘/ ! é.y/’\f.!}:g S Xy (a)-6
(b) Define evaporation and discuss different factors which St 4 )y?c/( A gl é_g/ J cﬂ/.;qi (b)
affect the evaporation.
7.(a) Define eictroiyte. Discuss its different types. -é_wi el h.l"gfl Az‘-.’..y/" J ..‘/’u:}gl (a)-7
(b) Give comparison of suspension and colloid. ' ) -2,*,-’.;)!;’ givd s u*" (b)

16 - 119 - 39000
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Note:-

2o 12505 e §T Sk, S s P bie Ll 25
You have four choices for each objective type question as A B, Cand D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

- The non-metals are generally soft but which one of the (-"Lc;-.‘" <l/ L.ch,u:ul g’gug(j {/)’ 1" Ao 21 A

. following is extremely hard?

10.

11.

12.

lodine ¢/3#7 (D) diamond 4} (tf) phosphorus (/s (B) graphite .'f_fu'_'/; (A)

What is the oxidation number of sulphur in H:SQ: ? ?;_‘rxy’,-," ;,2,1_/‘/7 ¥ /1’ U H2S04 -2
+7 (D) +14 (C) +6 (B) +2 (A)

- The common example of corrosion is ?.L,_;_g,‘jUL‘/rbc_.,,—/J/g'%/( =3
corrosion of iron el & by (B)  corrosion of copper L'f.f;K{K (A)

corrosion of tin e /J/ (D) corrosion of aluminiy 18y, Kﬁy}_l (C)

Which of the following shows tyndall effect? S o J2 Gl 5t -4
solid mixture j_{,:’” (D) colloid iy (C) suspens@gr{ﬁ&% (B)  solution A+ (A)

- Which one of the following solutions contains more wa%@% S b ,;g;&guﬁw’;" Vel -5
025 () ‘ 1M B  2M (A)

Which one of the following gases difuses r. p fe J/C‘gi’-;':_.\j ;:“Jizﬁ;‘/c S i -6

(C) helium~ =" B) hydrogen Pkl (A)

A bond formed between two non-metals is expected to be B g8 S Sl R e s 7
coordinate covalent oty _*g:‘JT.J/(D) covalent ooty (C) ionic - C&¥T  (B) metallic A (A)
- Which one of the following compounds is not soluble in water? ?t'xu.’{)’u:(}f;%{ U DASEIONIN.
Mg Cl, D) K Br (‘&) NaCl (B) o, (A)
Long form of periodic table consist of how many ?‘ag};‘/ {Uulk?g?’%’-"iﬁ&ﬁd" (/G»f)’ -9
horizontal lines.
8 - (D) 7 (C) 18 (B) 32 &)
Which of the following halogen has least electronegativity ? (c.(;’_u/é: g’:—: S Pk s 3% <10
iodine  ¢/3¥7 (D)  bromine S (T chlorine -\-,:/,5 (B)  fluorine u:/ﬁ (A)
Which of the following resulted in the discovery of proton? ?Jx;)gud/uis.; Vﬁ._%ﬁu’; Sti 11
alpharays 7.6 (D) Xerays y, A (C). canalrays z, &I (B) cathode rays 7. %7 (A)
The components of which of the following can S -.:wa.f‘f j'a.v'::.'/dfb ' ffoiJ(c,uf,,fEQ;,: -12

be separated by physical methods?

rardirale .‘1 F 20



raper . L (Group:I) ( Academic Sessions 2015 - 19 ) (;.,/u,; ¥ XL

Marks : 48 Subjective (Ji1) 48

Time : 1 : 45 Hours 5[)[/ j-9-1&8

Note : Section | is compulsory. Attempt any Two questions from Section Il.

2.

Vi
vii.

vili.

Vi
Vii.

Vi

Vi.
Vil

Viil.

5.(a)
(b)
6.(a)
(b)
7.(a)

(Section -1 Jil %)

Write short answers to any Five Parts : (5x2=10) -Zj}:.&lkfgﬁdziégc‘jf

- Whatis nuclear chemistry? Write its vast application. RN AR -“c;-l,r'/d//{ {fz
i. What is valency? Give its example. J&Je £ ?@;{éu’%
li. Differentiate between gram atom and gram molecule. -;{uw}ufd ZQ Lr S fz’ ¢ S
Write two defects of Rutherfords's Model. S R 0 SINE Sidoss

. For what purpose U-235 is used? ?lat@t_fdv;lé_:%f (g 235
How did Mendeleev arrange the elements in periodic table? ‘?g;.ﬁ;/'c_:ru.‘u?:' .f;g,:, /Jvﬁfi..i;‘};:’
Write two salient features of long form of periodic table. -’&f.;yr"' Al 5 d/ J-’"';‘/;‘Q [:.J'Tpsbf:'
What is electron affinity? How much electron affinity of fluorine is? ?QJ;L:‘;); d:'ﬂJg[zﬁ = gt’&’! u:/'g’
Write short answers to any Five Parts : (5x2=10) -Z‘-‘:@&‘ﬁ/‘?ﬁ"?’ékc——&(
Write down the name of four types of chemical bond. -é'f‘-‘_“f,'t:: rU" -g.,‘/;‘i»ut}{

it. Define covalent bond. @ _é'i.f..:'f‘g},..w&:f
fi. What is nonpolar covalent bond? Give an example. @ “Es e ?q.;l/i:(c;); .-):,-:7{@:
: {jefine transition temperature with an example. o {&%O _é_f =J& ;V/fzj. Y
Why is sait used to preserve meat? o @% Sl ol et 6 el s i S
Differentiate between soluté aﬁd Solvent. & e (‘: b A0 ety sl w oy

‘ mass P m
What is percentage of ? ? e (— %)
mass ) ‘ m

" B &\
What is unsaturated solution? el e & g

Write short answers to any Fi (5x2=10) _&,.-,gnzf'f'&fz:égcéf

. Define electroplating. SE A Lk
. What happens at the cathode in a galvanic cell? Tt l_(’/{b;{u:g,}':—f‘f/(
lii. What are weak electrolytes. Give an example. SOl S U (s )L
v. Define oxidation in term of oxygen with an example. S s Sy P T BUL T
- Write down two physical properties of non-metals. -éf.;;f :,L;n". JJ’ »'J/Y"""’ ol
Give namikof halogens. SEF Lk
WrWy two éxamples of least reactive metals. <& u:’t? %) U’JIJWJW/
Give a chemical reaction of 7, with Cl, and 1, . & AL Iy s Cl JL;J@_LA:( ¢ H,

( Section - 11, (19 )

(Each question carries Nine (5 + 4 = 9)marks 1 (5+4=9 ) 4 LZJivs)

Write at least five applications of isotopes. Ry g ég ﬁlf:’: ST
Explain four types of molecules. -Eiyu;d?ﬁl s ‘J ,"'z‘?'-
Write properties of covalent compounds. L& ;,yy"'&ﬁﬁ{w:f
Explain the factors on which diffusion of liquids depends . _’é.wu,- e ‘rx{u?gu":ufl § u/*,g“‘—j.ﬁét
What is electrolytic cell? Explain working of - ol AL KL o 2 e YU AL

an electrolytic cell,

24)

2 .

_ &1as:
-é{/@&'ﬁﬁoﬂ'r (2)»4.3}(;&(».&.‘;(5}1&):‘;0 Py

-2
#
i

i

-V
Vi
-Vii

~vili

~3

-VF
g
~Viier”
-4

~Vi
~Visr™"

_viii

(a)-5
(b)
(a)-6
(b)
(a)-7
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circies. Cutting or filling two or more

circles will result in zero mark in that question.

1. 1. One atmospheric pressure is equal to how many torrs? S trala it i(/".g A1
10325 (D) 760 (C) 765 (B) 101325 (A)
2. Molarity is the number of moles of solute dissolved in -¢ -0 £ )lp’\f/vﬁu’)r )r w2
gﬂ;}*,ﬁt—f 100 g of solvent (B) A% 1 Kg of solution (A)
S Ldm’ of solution (D) s ldm’ of solvent ©)
3. Mist is an example of solution. e JedUF e 3
gas in liquid JAE B) liquidin gas Sl (A)
gas in solid Jiitwa’ (D) solid in g 'y"{,r.fuf (C)
4. The oxidation numberof Cr in K, Cr, O, js @i&; §Cr 2K, Cr0, 4
+8 (D) +7 {&% (A)
5 Agood example of non-electrolyte is @% ~-\.«V'(f7’k5/-/~]’/a gt -5
solutionof NaCl ¥ ¢ NaCl % sugar solution J¥ S A
solutionof 1,80, ¥ ¢ H :SDJ§? solution of NaOH J¥ ¢ NaOH (¢
6. Which one of the following non-me @u strous? e K L,Ffdtu’yc.,f,fsa,: 6
carbon 8 (D) o‘#ﬁ T (C) phosphorus ~ (2#§ (B) sulphur /1' (A)
/. A good example of homogeneous mixture is - JL‘@@"J/:; u’f"}x <1
ice cream 5 U 7 (D) " wood $HF 0 (©)  rock Jiz (B) soil U7 (A)
8. Deulerium is used to make S b et 2 4l s -8
hard water /sil (D) softwater /i: L3 (C)- heavy water ssly: (B) light water Zisesi (A)
9. Which of the following halogen has least electronegativity ? “aﬁc;_/d r"'s/"’ So ru/ Lt -9
fluorine  ¢/#* (D)  chlorine . (C) bromine %1z (B) iodine  ¢/3¢T (A)
10. Which group of Periodic Table is called as noble gases? fe b o/ U s 10
18 (D) 17 (C) 16 - (B) 15 (A)
11. Which one of the following molecules is an electron e s 20 4 Ve A5t 11
deficient molecule?
0, - N, BF, ® M, A)
12. Which one of the following molecules is a good example of e SISk 4»%»&)@2; ALils 212

triple covalent bond?

cl, H,

(D) (C)

0, (A)
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Note : Section | is compulsory. Attempt any Two questions from Section II.

Paper:I
Marks :
Time :

(Group:II)

(Section - | J3l_2)

2. Write short answers to any Five Parts : (5x2=10) ~4:..«Lli/‘;£"ﬂé(.c,8f -2
. Define organic chemistry and which industries are dzﬁw' ( )27 S » St T
covered by it?
ii. Wnte modern definition of an element. -é_g/- b.wi—x»-"" -ii
i Explain emperical formula with an example. Loy J& s SUrss K 40 i
iv. Differentiate between shell and subshell and also give -".'"Ju:'f»;f :'l il 2—,‘”5;-)15 J,b.‘.;}-{,x ! J‘.j -iv
examples of each.
v. Describe isotopes of uranium. &= uy s l¢.(~u -V
vi. What is atomic radius. Describe the radius of carbon. éf; t/‘f,u o4 "c._UL-u LU v
vii. Whatis electronegativity? Describe its trend in period. Syl B A iq_y’d_ ;2“:’3}9 Vi
viii. How many groups and periods are there in modern periodic table ? Spim V@’.-/ﬁ.?:vf J.'-: J}g,/:«. Az Vil
3. Write short answers to any Five Parts : (5x2=10) -’é:@&lﬁ/‘?ﬁolzlégcé’( +3
. lonic compounds are good conductor of electricity Y& {25 - ¥ &yt F i LSS sl T
in solution form. Give reason. OC@
il. What do you know about triple covalent bond? Give exam«%&%g‘@.{‘ Sl Yo Tt A Ld ekl il
ii. What is the sign of stability of an atom? @ .';g».:/u;dl.x- (‘f;-'.f-'u i
iv. Define pressure and also write its S/ unit. - @%5 2y ST Ewiip, v
v. Convert-30°C into Kelvin. A - *{J % ’*u}’/ ' -30°C v
vi. Define an aquous solution and also giv xample _’Z;: fJLr .ﬂ/‘-o’j} Vi
vii. What is meant by molarity? Als its formula -’&%“r Ul € U1 ‘.‘c__;'/g.;b{/!:' - Vii
vii. How one molar solution of is prepared? ?93§J4/;§/§J o L NaOH i
4.  Write short answers to any Five Parts: (5x2=10) -é,.;,u;ﬁ?&fylétc_éf -4
i. Define reduction. _é J/‘QV ¢ WR
i. Whatis the difference between oxidizing and reducing agents. S‘c‘_J,f"lfQi’u“"’-{!.ﬁul s EFRST i
. Write down advantage of galvanizing. e /ﬁu e i
iv. Find out oxidation number of C/ in KCIO, -Z-./,’:""" A Fg Cl 2 KCIO;
v. What is meant by electropositivity of metals? ?9:!/92.& f:}-:;;/’?l -.f/"—" -V
vi. Write down the uses of calcium. A | g fe e i
vil. Write down any two chemical properties of non-metals. ~/f .:,L:-".jle 9 ug,v((f"— Jb vl
viii. What is the importance of oxygen and carbon dioxide for e ../'u&uw s uwlpd» T ub ikl ~Viii
pants and animais?
(Section -1, ¢ )
(Each question carries Nine (5+4=9 ) marks Jt/7 (5+4=9)J L)
5.{a) What experiment was performed by L el S e £ L F b s & Sk sslb (a)5
Rutherford to know atomic structure? Write down his observations.
(b) Write four steps to make a chemical formula. “Zuk r e & s £ (b)
G.(a) Define lonic Bond. Explain with examples. -Zz(uu’c_.w’&'/ sl EEy PSHEFT (a)-6
v S e belfs  deh wabl T o b

{b)

Define and explain mathemetically Charle's | aw of nacec



